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QUESTION 1

What view might you use to try to determine how long a particular backup will take? 

A. V$SESSION_EVENT 

B. V$SESSION 

C. V$WAITS 

D. V$WAITSTAT 

E. V$SESSION_LONGOPS 

Correct Answer: E 

 

QUESTION 2

What is the proper procedure to recover a lost tempfile? 

A. Restore the backup copy of the tempfile from the backup media. 

B. Re-create the tempfile with the create tempfile command. 

C. Copy an existing tempfile from another database. 

D. Re-create the tempfile with the create tablespace command. 

E. Re-create the tempfile with the alter tablespace command. 

Correct Answer: E 

ALTER TABLESPACE ADD TEMPFILE ; ALTER TABLESPACE TEMPFILE OFFLINE; ALTER TABLESPACE
TEMPFILE ONLINE; 

 

QUESTION 3

You plan to have a larger moving window size for the default system-defined moving window baseline because you
want to use the adaptive threshold. 

Which statement factors in this consideration while increasing the size of the moving window? 

A. The collection level for the AWR should be set to BASIC. 

B. The moving window size must be less than Undo Retention. 

C. The moving window size should be greater than the Automatic Workload Repository (AWR) retention period. 

D. The moving window size should be equal to or less than the Automatic Workload Repository (AWR) retention period. 

Correct Answer: D 

1Z0-053 PDF Dumps | 1Z0-053 Practice Test | 1Z0-053 Exam Questions                                2 / 4

https://www.pass4itsure.com/1z0-053.html
https://www.pass4itsure.com/1z0-053.html
https://www.pass4itsure.com/1z0-053.html


https://www.pass4itsure.com/1z0-053.html
2024 Latest pass4itsure 1Z0-053 PDF and VCE dumps Download

Moving Window Baseline (link) 

A moving window baseline corresponds to all AWR data that exists within the AWR retention period. This is useful when
using adaptive thresholds because the database can use AWR data in the entire AWR retention period to compute 

metric threshold values. Oracle Database automatically maintains a system-defined moving window baseline. The
default window size for the system-defined moving window baseline is the current AWR retention period, which by
default is 8 

days. 

If you are planning to use adaptive thresholds, consider using a larger moving window--such as 30 days--to accurately
compute threshold values. You can resize the moving window baseline by changing the number of days in the moving 

window to a value that is equal to or less than the number of days in the AWR retention period. Therefore, to increase
the size of a moving window, you must first increase the AWR retention period accordingly. 

 

QUESTION 4

By setting the value of MEMORY_TARGET to zero and setting the value of SGA_TARGET to a nonzero value, you will
enable which of the following memory-management options? 

A. Automatic PGA Memory Management 

B. Automatic SGA Memory Management 

C. Automatic Shared Memory Management 

D. Automatic Memory Management 

E. Manual SGA Memory Management 

F. None of the above 

Correct Answer: C 

 

 

QUESTION 5

You have lost datafile 4 from your database. Which is typically the fastest way to restore your database? 

A. Restore and recover the datafile. 

B. Restore and recover the tablespace. 

C. Restore and recover the database. 

D. Restore and recover the control file. 

E. Restore and recover the parameter file. 

Correct Answer: A 
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